
Alice wants to share $4880 between her four children. How much will each child get?

The purchase price for 6 guitars is $1272. What is the price of each guitar?

4 full jugs of water are poured into a bowl. The amount of water in the bowl is 2612 mL. What is 
the capacity of each jug?

Division

Carol borrowed $1518 to buy a car. She needs to repay the amount in six, equal monthly 
payments. What will Carol pay each month?

The combined mass of 8 identical items is 544 kilograms. What is the mass of each item?

The total cost of a shared meal between 6 people is $384. If the bill is split equally, how much 
does each person pay?

There are 410 balls. If you try to place an equal number of balls in each of 7 boxes some will be 
left over. How many balls will be left over? 

Each of the 8 shows of a school concert are sold out. If in total 3704 tickets were sold, how many 
tickets were available for each show?

Lena scored a total of 752 points in 8 rounds. What was Lena’s average score per round?

527 people need buses for a day trip to the beach. If each bus can carry a maximum of 65 
people, what is the minimum number of buses needed to transport all of the people?
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